=bh

| ambda = 1/ 4;
a | i nspace( eps, 20, 100);

I i nspace(2/1 anbda, 20, 100); % used in chebyshev

I i nspace(1/1anbda, 20, 100); % used i n chernoff

o
I

Cc

P true = exp(-lanbda*a);

P_markov = 1/| anbda./ a;

P_cheby 1./ (lanmbda”2*(b- 1/ 1 anbda)."2);
P_chern exp(1l-c*l anbda).*(c*l anbda);

handy = plot(a, P_markov, r-.",...

b, P_cheby, "k: ', ...
c,P chern,'g--",...
a, P true);

| egend( handy, ' Mar kov’ ,’ Chebyshev’,’ Chernoff’,’ Exact’);
tit_str = [’ exponential, \lanbda =, nun2str (| anbda)];
title(tit_str);

xl abel ("a');

yl abel (" P(x\geq a)’);

axis([1,20,0,1]);

r = linspace(-1.5,1.5,1000);

subpl ot (311)

sig2 = 0.01;
plot(r,tanh(r/sig2));
text(1.1,0.5,["\sigma"2
grid on;
title('tanh(r/\sigma”"2)’');

", nun@str(sig2)])

subpl ot (312)

sig2 = 0.1,
plot(r,tanh(r/sig2));
text(1.1,0.5,["\sigma"2
grid on;

", nun@str(sig2)])

subpl ot (313)

sig2 = 0.5;
plot(r,tanh(r/sig2));
text(1.1,0.5["\sigma™2 = ', nun2str(sig2)])

grid on;



